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	3.이차방정식의 세가지 풀이방법 연습문제 정답
	개요
	7. 이차방정식의 풀이연습
	가. 
	1) 인수분해
	가) 

	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	나. 
	1) 인수분해
	가) 

	2) 완전제곱식 풀이
	가) 

	3) 근의공식 

	다. 
	1) 인수분해 : 안됨
	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	라. 
	1) 인수분해 : 안됨
	가) ..

	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	마. 
	1) 인수분해
	가) 

	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식  

	바. 
	1) 인수분해 : 차이가 2가 되도록
	가) 

	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	사. 
	1) 인수분해 : 안됨
	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	아. 
	1) 인수분해 
	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의 공식 

	자. 
	1) 인수분해 : 안됨
	2) 완전제곱식 풀이
	가) 
	나) 

	3) 근의공식 

	차. 
	1) 인수분해 : 안됨.
	2) 완전제곱식 풀이
	가) 
	나)  실근이 없다.

	3) 근의공식  실근이 없다.

	카. 
	1) 인수분해 : 안됨
	2) 완전제곱식 풀이
	가) 
	나)  실근이 없다.

	3) 근의공식 실근이 없다.





